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The National Transportation Communications for Hi®tocol (NTCIP) for communicating
with highway signs with dynamic messages desctibesnessages using Markup Language
for Transportation Information (MULTI). A MULTI siing consists of text to be displayed
together with embedded tags which describe fornmatif the text and included dynamic
elements. Tags begin with the open bracke} ¢haracter and end with the close brackej (°
character. If an open bracket character is to apgpehe text, it is represented as two open
bracket characters. Similarly, if a close bracketracter is to appear in the text, it is
represented as two close bracket characters. Toldgon is concerned with formatting for
character cell displays, which are rectangularyarcd character cells each of which can
display a single character.

The tags to be supported for this problem are:

Tag Description

[nl] Start a new row of the array

[ sc<digit >] [Insert <digit > blank character cells between each pair of textacters ir
the following string until changed.

[/sc] Set inter-character spacing to zero (equivalentto] ).

[i12] Set left justified text (the first character of tiet is the leftmost character
of the line).

[i13] Set center justified text (the number of charaptesitions before and after

the text on the line is the same or the number &tone more than the
number before).

[i14] Set right justified text (the final character oétbtring is the rightmost
character on the line).
[i13] Set fully justified text (an equal number of blattkaracter spaces, as

large as possible for the line length, is placetivieen each pair of
characters in the text; the resulting string istes=d in the line as for
centered text).



For example, on a 24 character linenflicates a blank character cell):

Format String Generated Output
[j! 2] MESSAGE MESSAGE

[j! 3] MESSAGE MESSAGE

[j! 4] MESSAGE MESSAGE
[j12][sc2] MESSAGE MESSAGE

[j ! 5] MESSAGE MESSAGE

[j12]THIS[j13]1S A[jl 4] MESSAGE TH'S IS A MESSAGE

Letters within tags are case-insensitive. Thahig = [NL] = [NI] = [nL].

The default justification at the beginning of a sege is left justification and the default
character spacing is O.

Justification and character spacing are maintaaoedsg nl | tags.

The[j12] and[jI5] tags may only be used before any text has begmubanh a line.
Otherwise it is an erromAG CONFLI CT).

Once[j | 5] text has been output on a line, no other justibcetag may be set on that line.
Otherwise it is an erromAG CONFLI CT).

The[j1 3] tag may not be used after right justified tgxt @] ) has been output on a line.
Otherwise it is an erromAG CONFLI CT).

A justification tag[ j | 7] with the same value as the current value doesawse aAG
CONFLI CT error.

Extra character spacing specified by tke?] tag is ignored on lines with fully justified text.
The full justification rules determine the extraegs.

If too many characters are required on a line omt@any lines are required in a message, it is
an error {00 BI G). A[nl] tag does not begin a new line unless followedey dutput.

If left justified text and center justified text@gar on the same line, there must be at least one
blank character cell between the last charactifojustified text and the first character of
center justified text. Otherwise it is an erroog Bl G).

If center justified text and right justified texp@ear on the same line, there must be at least
one blank character cell between the last charattsnter justified text and the first
character of right justified text. Otherwise itais error {00 BI G).



If left justified text and right justified text appr on the same line, there must be at least one
blank character cell between the last charactfojustified text and the first character of
right justified text. Otherwise it is an erraic© Bl G).

The only tags allowed in a message are the segsHiséed above otherwise it is an error
(BAD TAG). A malformed tag or an unmatched single operlagedl bracket is BAD TAG
error.

For this problem you will write a program which éskas input the dimensions of the
character cell array and a MULT] string and eitbetputs an error string or a correctly
formatted message.

Input

The first line of input contains a single inteder(1<N<100), which is the number of datasets
that follow. Each dataset consists of a single ¢ioetaining an integeR, (1<R<25), a blank,

an integelC, (1<C<80), a blank, and the remainder of the line is alMlJText string.R is

the number of rows in the character cell ar@ys the number of columns in the character
cell array, and the MULTI-Text is the text to berfatted.

Output

For each dataset, output the dataset number oe &yiitself, followed by one of the error
strings fAG CONFLI CT, TOO BI G, BAD TAG) on a line by itself in the case of an error,Rr,
lines each of which has exac@ycharacters (other than terminating newlines) 1sgreng

the formatted message using space characters fuy emaracter cells. The last line of output
for a dataset result should be a single blank line.

Note: For ease in grading, a dataset that congairesror will only contain one type of error.

Note for Sample Output» (added after the last character of the lines fostitative purposes.
It should NOT appear in program output.)



Sample Input

24 [j1 2] MESSAGE[ nl J[j 1 3] MESSACGE[ nl ][] 4] MESSAGE
24 This[jl3]is a[jl 4] message

24 This is a very |long nessage which will not fit
24 Thi s[nl ] message[nl]has[nl]too[nl]many[nl]lines
32 [j13]This nessage has a [[ and a ]]

32 This is a bad tag[xy34]

32 [j13]This message [jI5] has a tag conflict.
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Sample Output

1
MESSAGE A
MESSAGE A
VESSAGE®

AN

Thi s is a nmessage”
N

3
TOO BI G

4
TOO BI G

5
This message has a [ and a ] ~
N
6
BAD TAG

7
TAG CONFLI CT
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